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‘There are three positive numbers. One-third'of.

- T @ % T T4 / SPACE FOR ROUGH WORK

b.
- -fowt, geg El:cﬁ‘er@!nﬂ 8'FH B | TEd DI gE& 'th.e ave;agé of all the three numbers is 8 less
- 3R ol 998 B ge w1 aiEa 8 ‘3 | g8 §E than the greatest number. The average of the
& =7 % 9 smallest and the second smallest number is 8.
D 10 What‘is the greatest number ? . 1
I 1 - 10 ;
(2 11 @ 11
@ 14 @ 14 e &
.(4)" 9 W 9 | : _ ]
6) I T & ?'Ea g " (5) Not attempted S 'l
({1331 x Y216 + 729 + ¥oa ) v 2 : - (41331 ~ 9216 + ¥729 + ¥64) isequal to: -
®» 79 REWET, @ 7 AR ghe |
(2) 14-82 (2) - 14-82
(3) 90-88 (3) 90-88
4 1362 . 4) 1362 ‘
, (5i Bﬂ't:ré‘f%ma?s% (6) Not attempted
. AXE g e b ww o aie| ™ L T e e e
Wﬁ;;ig I%Wﬁﬁmaﬁm -"-ratlo%:; i %'-;-Whatxsthemmmum_
? | @S 9w 4850 ﬁﬁ':ﬁ EFR'IﬁT @:ﬁ ET%'I amount he should have, so that each labourer
ﬁﬂﬁmmﬁ‘ﬂmﬁmmﬁ° « A ~ gets an exact number of rupees ?
(1) T420 (1) 7420 _ |
@) T 512 @ T512 WL .
@) %59 - (3) T599
4) <358 (4) X358
S (6) Not attempted R
®) ama‘é’f&mwa% S P. 3 50 |
8, aft A #13M, B ® 3:|-|-q-a 10% :ﬂﬁlﬁ%’ﬂ?ﬂ B & IIftheinco:ﬁeofAis 10% more than that of B and
. o, C_&?rm.a 20% 3311'% ?hm A, BWC the income of B is 20% less than that ofC then_-'
the incomes of A, B and o respectwely, are in’
zﬁmﬁaﬂmﬁ% ‘the ratio : . -
(1) 22:20:25 (1) 22;20:25 S AR ,
@ 10:9:7 o (8 20§97 i s B
(3) 22:18:25 (3) 22:18:25 : it 3
4) 11:10:8 (4) 11:10:8 _ /
et ' (5)' qufamaﬁﬁ '(5) Not attempted -
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The traffic lights at three different signal poin

T ami & ﬁw, T | SPACE FOR ROUGH WORK |

9. W fafi 3t wmecE, S fi. fafter Ry firgati we | 9. ds. 75
it &, o 45 ¥, 75 ¥bs aw 90 dwe % wig| - change after every 45 seeonds, b ssconds ar
wee W E | AR 7w Eﬁ=ﬁ THE 7 : 20 : 15 sﬁ: .90 seconds respectively. If all chang
Y T simultaneously at 7 20 : 15 hours, then they wi
(1) . 7:27:45% (1) 7:27:45hours
(2) _7:27:303@ (@ 7.27_30hours
@) 7:27 :_50?{% © (8) 17:27:50hours
(4) 7:28:00%: (4) 17:28: 00 hours
. (5) _ IR el S = _ (5) . Not attempted
10. amaﬁwﬁm 45 } T1 ITH! <R ATET 1|10, The sum- of two numbers is 45 and thei
g4t W 8 | HEna w1 LCM 2 : difference is one-mnth of the sum. Then thej
(1) 150 L ' LCM s : ’
(2) 200 (1) . 150
3) 250 - @ 200
4) 100 - @) 260
(5) Not attempted
11._ﬂﬁx@3mm%aﬁry,x%aaﬁaﬁﬁﬁéhﬁ o TR TR
[ g e aﬁ‘-ﬁ ﬁ @ P ) 11 If x is a 3-digit nqmber and y is a numbe:
H?E 2t e T (x - VU E obtained by permuting. the digits of x in an;
fafora manner, then (x - y) is always divisible by : -
@ 6d 1 6
@ 9% @9
3) 12% 3 12
@ 43 . (44
6 I =|€f 3 =T (5) Not attempted
12. - Fe oA : |12 Thed closest approxlmatlon of . the followmg
‘ _ . pro uct
. 033iix;25x0499x0125x24 | 03333x025x0499x0125x24
ﬁ'ﬂo??rq is: s
8 . L Lty '
1 2 ]
(') i ; (1).\ 7 t
- 3
(2) = ot
Y &5
5 ;
@ 2 @ -2
5 5 =
1 { 1 ;
4) = 1
3 : W 8 _
(5) IR & & ETE%\ (5) Not attempted
RAMNDUPage L E—
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18. % wFufy wmywer s w7 961 # g @ 9wt R
9% T 3wt o = w i @ et 2 j

14. Wmaﬁtwmﬁam@émﬁmm
_40ﬁ1ﬁwm%mﬁ:ﬁw_ﬂ?ﬁiﬁ

(1)

@
@

'z 126 wf Reeimm™ @ T 135 R freimm # =

/

2198
38 4
42 94
18

ST & 3 =

(D
2)
3)
@)
(5)

afd 1 g 8 : 5} | 3R Ak B okl W B
foTT s S, @ @ v@ wE @ fea B E @@
ara ? '

68 f&a

80 f&m

104

52 f&a

IR @l &A1 =TEd

(2

()

13. A sum of money at simple interest doubles in

14,

7 years. It will become four times in :

(1) 21 years

(2) 38 years

(38) 42years

(4) 18 years

(5) Not attempted

A man and a boy together can do a certain
amount of digging in 40 days. Their speeds in
digging are in the ratio 8 : 5. How many days will
the boy take to complete the work if engaged

alone ?
(1) 68days
(2) 80days
(3) 104 days-
(4) 52 days
(5) Not attempted

Tea worth ¥ 126 per kg and ¥ 135 per kg are

15. 15.
£ yHER N TH dad TER f I ° 1.: 1:2 % mixed with a third variety of tea in the ratio
s 3 fremn w1 AR e w1 e 7 158 S 1:1:2. If the mixture is worth ¥ 153 per kg, the
freiem &, @ el SR i b i fhem e price of the third variety per kg is :

2. (1) % 170-00

(1) ¥ 170-00 (2) T 17550

75-50

@ <1 (3) % 180-00

3) = 180-00

(3) (4) T 169-50

(4) ¥ 16950

] (5) Not attempted
. p s ' '

e T
TT— T w1 % 70 T | SPACE FOR ROUGH WORK R
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Aefifea § & fFe RS 51 w40 e & fayg [16.  Which of the following plastics is used for m:
16. :

slectrical switches ?
M % for e s @ 2 ele
: (1) PVC
(1 ot 4t :
(2) Bakelite
(2) SFaR .
(3) Teflon
@ (4) Polythene
¢ (5) Not attempted
(6) I T 3 =
he slogan of the ‘Patient Safety D
. 17 TR 2022 )t s R’ 17. What was the s _
s T o7 2 ’ N ke which was observed on 17th September 2022 7
. 1) “Meditation Replaces Medication”
(1) e g Eww? ;
| . i (2) “Medication Without Harm”
(2) “ar, IHaR"
- (3) “Health With Yoga”
o _ s _
i kil ' (4) “Health Without Medication”
“ﬁm L]
@ ke (6)  Not attempted
(5) I 7 T =
18. 3W dtu @y W ?Rnﬂ'm 2 e 9 Wﬁﬁ @% 3 18, .What is the name of the plant group whose
R S — o - Plants bear naked seeds and are usually
’ P _ perennial, evergreen and woody ?
D 9 - (1)  Angiosperms
L@ A () Pteridophyta
(3) FHFEE (8) Bryophyta
4) frfremt (4) - Gymnosperms
() Not attempted

(5) I| 7 I ==

19. % § wwm 3 7§ 1900 ¥ 9 2020 7% fg |19,

Ul § Faifes @l vew o # 2 number of Gold Med;:suljzzj xchmitf:
O Since 1900 to 2020 ?
(2) ywkah o ey
(2)  Boxing
(3) ‘
« 3) Wrestling
(51 mﬁ - 4) Shooti_ng
m& — a?- (5) Not attempteq-
T v 1 sPACE FOR Rougy WORK

Scanned with CamScanner



20.

21.

- (8)

P 7 & BH-E @ R 2
e

R & 3 - s 0w e meRRwRR

FaFahde

1) ¥’ 39 W Iyerey W% FEHA F R @ T
(rfedta) 7 st U R |,

(2) . 7' Yeah @R & G T TF I 2 |

B) W& @ e wgw } e g s F e

Y o alt ¥ uRe o e § |

@ =& el w1 o T} s gu 39 W e
4 93 30 3w ¥ B v P o wwA R

(5) I T 31 =R

e, R e g e A fove S 2
(1) T T '

(2) dFEaR

(3) wEEA

@ ®EF

I & ¢ 9

frfifaa & @ 91 gRRE & & s eeRa 3 e
Tt (FREA) aun favasdia 8 7

(1) SRRE FR< '

(2) s feFw

(3) TREH T

(4) " ThIA

(5) et A€ & =Ed

W>W>M>ﬁm .
mmgz>ﬁ3ﬁ132 >%umsz>ﬁm152
W>m>ﬁm>m
frciaee > feraTEe > dererge > e
e Al &1 e

(2)
(3)
(4)

20.

21.

22.

23.

(@)

Which one of the following statements is correct
about Uniform Resource Identifier (URID) ?

(1)

It is a unique address or path for each
‘resource located on the web.

(2) It is a unique value associated with a

network adapter.

(8) It is a unique address that can be used to

uniquely identify each node in a network.

(4) It is a set of rules which is used to retrieve

linked web pages across the web.

(5) Not attempted

Google, Bing and Yahoo are examplesof _____
1)
(2)
(3)

Mobile Applications
Software '
F’irewaus

Search Engines

(5) Not attempted

Which of the following is used to ensure accuracy
and reliability of data in the database ? -

(1)
@)
(3)
Y
(5)

- Database Constraint
Data Dictionary
Database Instance
Database Schema
Not attempted

Which of the following is the correct sequence ?

(1) Megabyte > Kilobyte > Terabyte > Gigabyte
(2) Exabyte > Petabyte > Terabyte > Gigahyte
(3) Petabyte > Zettabyte > Gigabyte > Terabyte
(4) Kilobyte > Petabyte > Yottabyte > Megabyte
(5) Not attempted

I &1 % o7 T / SPACE FOR ROUGH WORK
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24, VR ¥ wRYE § TNET F@ ¥ Gy § frfifag i |24.  Which among the following statements is/are
¥ PH-AVA T T 2R ? ;:o:*irect CWltet;c 1:352;(1'? to the amendment of the
L m Rym ndian Con
. ﬁﬁgﬁ ;;%?I{I;{? 1 vfe 2 % Poelt of (a) Parliament has the power to amend any
! part of the Constitution except for Part III.
(b) wRYR T s Yau A a A& (b) A Constitutional Amendment Bill can only
GRIEIECT R be introduced in the Lok Sabha.
(c) uium e Jtes = fg e IN F 9E (¢) The Constitutional Amendment Bill once
Tgafd 1 STl h srraaear g R | . passed needs the assent of the President.
Hra fow T w2 | @ fwew w1 aw ﬁﬁrq Choose the correct option from the codes given
(1) Fad (b) below :
@ ¥ () 1) . Oty )
ly (c)
3 i b (2) " Only
E 4; :3 e Ec)) (3) ' (a)and (b)
(4) " (a) and (c)
(5) IR TE < =@ .
(5) Not attempted
6. 9 AR AN W ‘HN b EF"% %ﬁ 25. Which anioﬁg the following countries would be an
B . example of ‘coming together’ federatmn ?
tal A () India
(b) GIE T ARH ') USA.
() sfEfer (© Australia
@ @ (d) Spain ' v 5
4= few £ a g8 ﬁm =1 44, ﬁﬁfﬂ; " Choose the correct option from the codes glven ;
1) )3 () belwz - ‘
@ (a)3 (0 E; _ Eb; a“_g E";
3;]’1-{ d - (a)and (c
(i) ((b; e Eb; - (3) - (b) and (@)
() " s @) () and (b)
(G} SR ﬁ!m' & - (5) Not attempted
26. 3INaFafeE Wﬁ% %ﬁg@gﬂ'ﬁ (d) nﬁﬁ fgq|26:  Which among the following was/were feature(s) of
gqed], Heds ‘Subsidiary Alliance’, a system devised by the
F & wa- oAl 2 :
. British in colonial India ? /.
(a) T IS Seiwell GRI SR T A | (a) It was devised by Lord Wellesley.
& @ | ) stationed in the territory of the ally.
(c) weanf ver fordft o WEH & @ B Fi (¢) The ally could never get into agreements
FEHT | ) " with any other rulers.
@ TRy gganht ga A Had it FAfeal & (d) The British were to protect the ally only
@ F=Y | from the internal threats to power.
3 Ry T g A Tl forew H1 T HIRIT ¢ 1? lime the- correct Optlon from the codes given
elow
M (@3 S;’I () (a)and (b)
(2) (a), (b) AR (c) (2)  (a), (b) and (c)
3) (@)@ 8)  (a)and (d)
4) ¥4 (b) (4)  Only (b)
| ) I E &1 =R (5) Notattempted .
RAMA/D1/Page 8 7o Wi % fTQ TUT / SPACE FOR ROUGH WORK
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27.

)

T wger Y, wR i o ok A
wT § ao wy @ fd w o iR B R F R,
A Ty A F R T wE RE 2 :
(1) wm

@) Imhaffa @m

(8) afifem wm

(4) wem

(5) I TE < =R

ot T S (At A e

AT A €9 Y I T AR 2

(2) wRE=

@) Rl

(4) TEREE - i s
®) 'mae.ammaa' P

I 27-

28.

29,

 (4)

In a Market E_quilibrium figure, if the Demand
curve shifts leftward and the Supply curve shifts -

‘rightward simultaneously, what is the impact on
" Equilibrium price ? - 5

(1)
(2)
3)

Increases

Remains constant
'Remains undecided
Decreases

(6) Not attemptéd

Selling off a part of the equity of a Public Sector

Enterprise (PSE) to the publiciscalled - .
(1) ;
(2) .
(3
(4)
(5)

Dlemvestment
Dehm;ltatmn
Communisation
-Nationalization
Not attempted

| India’s first natlonahst art school was. establlshed
in which University in 1919 ? &

99, WRd 1 UEA rrgaﬁt E | ﬁrmaq EL 1919 ﬁ %e ' (1) . Visva-Bharati University
L ; farwafraea fq‘ g ﬁ;qT T o1 ? (2) Banaras Hindu University
1 fawa m ﬁ‘aﬁmem : (3) Allal_iebad’ University
(2) ﬁﬂﬁ A (4) . Aligarh Muslim University-
2 (5) Not attempted
(8) sawramﬁaaﬁmm 3
: 30. Wlnch of 'the followin waterways has b =
foreafreer g ys has been
) 3TEﬂ’T3 gfem declared by the Government as the Natclone;l
(5) FNX qﬁ Fci| ?:nﬂﬁ Waterways N.W. No. 2 ?
b : - S2(1) The Brahmaputra. river between Sadiya
0. Frfufad Gramrﬁ T a ﬁﬁe aretnﬁ aﬁ TR g | and Dhubri (891 km) ; :
oy -_-". W G{EIIT"T H&aT 2% w9 1 Oifte foman 27 © (2) The West-Coast canal  in Kerala
E o ot &5 ey w 7 (891 Fraf.) (Kottepuram — Kollam, Udyogamandal and
_ | s -Champakkara Canals — 205 km) _
@ ¥ A ; -ﬂ_ﬁ'ﬂ T (I - g (3) . Specified Stretches ef +Godavari and °
! FemHed 9 A9FHI TE - 205 fRaAL) Krishn ;
o a rivers along with
(@) e -GG TR we & e e Kakinada - Puducherry 'Stretcts of c,mals
i aﬂ'{wqﬁ’-ﬁ%ﬁﬁEmﬂ(IOTB%Iﬂ) (1078 km) : 4
@ vamec R W & owew wm L (4) The Ganga river between ‘Allahabad and
(1620 F%HL) , Haldia (1620 km) A e
g _‘-‘__(5) I q‘&‘f aT{T “& * () Not attempted

: mepage 9
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L. ‘T Wz ¥ g YA R j : ‘ana;ﬁﬁ:ﬂ:rqé’ am%maﬁﬁwma
@ W N | @ s
@, W - @ aw
@) T T
(5) ' W T 3 ey | e g @ =
s ' R | (6 I
32 o sl 1 52 2 e yg T b i
(O R 1weh, e ey 2 LA L g
® D, o, ooy | T R s e e
(3)_mwwﬁqmméﬁarﬁqr | PO e '
@ @HEITHHTHI Eﬁ'q{mmmm| (2) ey '
(6) I T A A | ® e
. L s

. 88, ﬁaﬂﬁmﬁnmﬁﬁw-wl - '(5)_ mmﬁémam%
; wmﬁ*%m’ﬁkﬁ#zﬁa@%%ammﬁhm

: k2 37 ﬁn%ﬁaa 'aﬁ?ﬁﬁ: ' 4
(1) ST ST i . ‘ﬂawmwaﬁrﬁm|
@ e SR i ra ‘

: (2) wmfrs
@ aﬁmw EE & |
(4) =R R I i - ﬁl
(®)- mﬂz"fémamﬁ

| | 6 I T
34, ﬁqwﬁmmfi‘awvf’wmgmmﬁmw Vied

&2 ‘ '
<y i mﬁ%wmmmm i
Dl i) m%%qqa
L C)) SEERE R
W wEm: Sl
oy R @ wwaw .
Ly | (5) 3IW
RAMAD1IPage'10- maﬂﬁ%ﬁ‘-mmfsms Foanoue:j::(m 3
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39, TF P T T ¥ W N GTH § 3 o | 43, FF g mfi ¥ aw R wwm & R

w2 TR W5, T Tt s R e g |
i (1)I e
A(2) AM . .
3 2 (2) =
@ # | @ s
(5) I T =R ' . ' @
: (5) TR Tl AT =
40. ‘Or-uE %1 g 9 S @ o
(1) &d 3wl &A1
(2) gd HEwd g ' ' i
' : W=
(3) - URT 1 9 91 Fren i ﬁqmﬁamﬁwﬁﬁwmm
(4) & TR _ | | .
(5) I T ¥ = B ) gmExATIFALR

2 wmEEARFEEwd RETE|

41, IR F VG TF BN (3) AfEeh Bd A HE

(1) FH 3R frn | e : (4) ﬁﬁm@aﬁqﬁrmal
3) = 3 fasioor ;o :
(4) 3eva iR fadw
(5) Iut El & =R
45. sl i w7 S TR
' o E (1) I=am
42, ﬁqﬁﬁmﬁwﬁﬁwmrﬁqﬁaﬁsﬁﬁm
(1 =E ; | (2) TEY
(2) : (8) W
@ wa | , (43. - r
@ <@ i
6) IW .
RAMAID1/Page 11 - % & % féTe T / SPACE FOR ROUGH WORK P
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46.

47.

Choose the correct passive voice form of the
following sentence. ¢
Sheetal will have finished the work.

(1) The work will be finished by Sheetal.
(2) The work will have been finished by
Sheetal. ;
(3) Sheetal will finish the work in due time.
* (4) The work is finished by Sheetal.
(56) Not attempted

Rearrange the following parts of a sentence
labelled as PQRS to make -a meaningful
sentence.

P. deedsistobe

Q. on to the future

R. the power of noble

S. preserved and passed

50.

51.

Choose the alternative which _heéf expresses the
meaning of the underlined idiom.
Her speech is always full of tall stories.

(1).

heroic stories

(2) exaggerated tales
(3) realistic stories
(4) long tales

(5) Not attempted

In the following question, out of the four
alternatives, choose the one which can be
substituted for the given sentence.

“An apartment building in which each apartment
is owned separately by the people living in it, but

also containing shared areas.”

(1) SQPR - (1) Multiplex
(2 PQSR " (2) Duplex
(3) RPSQ (8) Caravan
(4) RSQP. (4) Condominium
5 t t
(5)" Natatenpeod (5) Not attempted
48. Pick out th tly spelt word.
f;ld{ O(I; . i it 52. Choose the word which is opposite in meaning to
) MRSROUE the word underlined.
(2) Outragous ] Seria 3
(3) Outrajious ‘Earthquakes are frequent in Japan.
(4) Outregeous (1) unusual
(5) Not attempted (2) few
49. Pick out the part of the sentence which has an : 18 Tare
error. If there is no error, your answer is (4). ~ (4) extinct
The simplest method (5) Not attempted
A
of welding two pieces of metal together 53. Ch9°5‘? the word which is opposite in meaning t0
B ' the word underlined,
is known as pressure welding. “She is slender in figure.”
C (1) frail
(LB (2) stout
(2) A @ _
3 C ) slim
(4)No error (4) strong
(5) Not attempted . (6) Not attempted
__’-—’/
RAMA/D1/Page 12 T T o oTg T / SPACE FOR ROUGH WORK
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" Read the following passage carefully and answer

. 54,

" Choose the most appropriate preposition to fill in

57.
- guestions 54, 55 and 56. the blank.
India is one of the oldest civilizations of the world, She succeeded dint of perseverance and
- which offers a kaleidoscope of cultural experiences. The hard work.
~ country has a rich heritage and numerous attractions. (1) from
: ‘ It stretches from the snow-capped Himalayan peaks to (2) by
‘the tropical rain forests of the south covering @ to
- 32,872,263 square kilometers. It is the world’s seventh
--",r; largest country, distinguished from the rest of Asia by 4) for .
 ‘mountains and the sea which gives the country a (5) Not attempted
 distinct geographical identity. India showcases a
variety of heritage x.'esourt:fas crafted hundreds of years 58. Till in the blank with the appropriate option
‘- ago from huge heritage sites to pristine sea-beaches. given below
' Tourism contributes to substantial economic, social, I'I‘h B tle of Water] e e om of
- cultural, educational and political development that Et::n Bie R Yhadavion. B
- generates both direct and indirect employment. i
3 (1) on the playing fields
Find out a word from the above p}assagé which (2) for play fielded :
me’ans ‘a .country’s history, traditions and culture (3) in the played
St : (4) with the play field
(1) Theritage
(6) Not attempted
(2) pristine :
(8) attractions
(4) identity 59. Pick out the correct indirect speech form of the
(5) Not attempted following sentence.
“T have bought a house,” he said.
55. Tourism as an industry also contributes to our (1) He said that he has bought a house.
country’s : : (2) He said that he bought a house.
iculture and religion. :
(1) agrio & (3) He said that he would buy a house.
(2) education and employment. B oSl il
(3) religion and statistics. @ eisaid at he ought a house.
(4) population and employment. (5) Not attempted !
(5) Not attempted
. o B .. |eo. ~ The old man is looking forward the
86. Besides the world’s oldest civilizations, India is visits of his grandchildren.
also the world’s largest country. )
; (1) in
(1) fifth @ o
(2) tenth B st
(3) seventh g
(4) third @ o=
' (5) Not attempted (8) Not attempted
AID 13 T TIT / SPACE FOR ROUGH WORK
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61.

What is the One Time Cash Award for Mahavu-

61.
qEhR fear S 2 2 Chakra Awardee ?
(1) T 1,00,00,000 1 T 1,00,00,000
(2) T 4,00,00,000 ) T 4,00,00,000
(3) ¥ 6,00,00,000 (3) = 6,00,00,000
4) T 2,00,00,000 4) . T 2,00,00,000
(5) ~ IR &l < =R (6) Not attempted
62. o W W ‘g 1 e’ e S & 2 62. Which city is known as the ‘Heart of Haryana'?
6) (1) Jind ° _
@) U@ﬁ‘q’ () (2) Gurgaon (Gurugram)
(8) = (3) Panchkula "
(4)  J@ret (4 Ambala
(5) I &Y o = TRd (5) Not attempted:
68. EREN T Uy yeh W R 2 63. ‘What is the State Bird of Haryana ?
1) W (1) Great Egret
(2) Wi ush (zfim =€) (2) ' Humming Bird
(8) HIeA .(3) Black Francolin
(4) = I (4) House Sparrow
(5) IO G &1 AT (5) Not attempted
64. whEm & FerETy # : 64. The cli_:énate of Haryana is :
(1) 39 asig TR (1) Sub-Humid Temperate type
(2) N 5 TEEE THR ' (2) Sub-Tropical Dry Continental type
(3) TS I FHER (3) Sub-Humid Sub-Tropical type
(4) TEEHE THR (4). Continental type
(5) F:K & a;n aﬁa'a' : (5) Not attempted _
: o ' 65. Where is the Blue Bird lake located i in Haryana ?
65. i@ & = € W el oud ¢ ? e ary
g; :Earm (2) Faridabad
bk (3) Karnal
() Thes (4) Hisar
E:: ?:;;T{qé’f o1 =R (6) Not attempted
FRRgE R ﬁf@{ ¥ qafftr e B 7 66. -‘:;}il:;-l;ud-;sm(:t of Haryana receives the highest
(). S (1) Ambala
@ Feae (2) Kurukshetra
@) frar (3). Bhiwani
@ fEw (4) Hisar
(5) e T &A1 e (5) Not attempted
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68.

69,

70.

"RAMA/D1/Page 15

(2)

- (4)

®

(5)

®)

67. wmﬂﬁwaﬁfﬁm% ?.

Sfig

w
®)

(5)

"Wnﬁ%eﬁﬂ@aﬁmmﬁmmmgﬁ?

10 9%, 2005

7 T, 1998
19%R, 1966
17 5Ha8, 1955 '
W Wé’f & ?ﬂzﬁ

(1)
(2)

4)
Y

TR geEd o arfufaem, 1994%31@'@1{%

'm@nﬁﬂ%@ﬂﬁﬁﬁqmaﬁﬁrwmm

e 727 & adt 2.

1) "= aRfy

2) R Fe

3 ﬁaémwﬂm(aﬂ%z)qazﬂwaﬁ;ﬁﬁ
(4)  amIREes = wfEfy %

(5) mqﬁ’fﬁmmﬁ

'wxﬁﬁqmmaaﬁamwa

wnﬁﬁqwmmmﬁﬁgﬁ%ﬂﬁﬁa
C BRI - WII

L EEEs —a. ﬁm:n

. @M b. ~ %ud

Hiege grflua

I-a; II-d; III-b; IV—c

- 1-d; Tl-a; III-b; IV—c
I—c; II-b; IIi—a; IV—d

 I-b; II¢; III-d; IV-a
IR E & =

69,

W ®

70.

@

- (®)

(8)

- (4)

|67. " Where is Baba Ladaana Tirth Sthal situated ?

Jind
"Ambala

(8) Kaithal

(4) Rewari

(5) Not attempted

(1)
(2)

When was the first permanent Lok Adalat set uP"
in Haryana ? ‘

(1) 10*h May, 2005

@ 7t August, 1998
1% November, 1966
17*h January, 1955
Not attempted

(4)

Which of the following committees is no#
appointed by the Panchayat Samiti according to
Chapter X of the Haryana Panchayati Raj Act,
1994 ? ' ;
General Committée

Health and Welfare Commlttee '

Fmance, Audit and Planning Commlttees
Social Justice Committee

Not attempted, :

1
(2)

4)

Match the ancient names of the dlstncts in

'Haryana given in Column I with their present
- names in Column II :

Column IT

Column I
I.  Sairishaka a.  Sirsa
II.  Kanoud" b.  Kaithal
III. Kapisthal I c Panipat
IV. Panduprastha d. ' Mahendragarh
(1) I-& II-d; II-b; IV— '
(@) 1-d; Il-a; II-b; IV—
(8) I—c; II-b; III-a; IV-d
I-b; II-¢; III-d; IV-a

( 5) Not attempted
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. frefafa e W e Hif

71. - 1. Consnder the following statements
(8) =, o i AT Tia M s R (a) Chope is a style of shawl manufactured in -
(b) Tiiel % T Y H FOASA & AW A ff AEOIT@ Haryana. .
B ; ' (b) This shawl style is also known as Phulkan
I | & HH-A/A wY g /2 ? Which of the statements _given above is/are
(1) a4 (b) correct ?
@ @wW® (1) Only (b) ‘
(3) () (b) # A HI§ T (2) Both (a) and (b)
@ ¥ @ %4 , (8) Neither (a) or (b)
(5) mqﬁammga v | @ Only@
(5) Not attempted
72. mﬁﬂﬁ*@'ﬂsﬁﬁsﬂﬁwﬁuﬁmmw .
L oqr? 72, W'hen was the famuus Badkhal 1ake of Haryana
1 =¥ 19471‘-& . developed ?
2 = 1950 % Q). In1947
(3) =¥ 1974F - (2) In1950
(4) a$1940# 148) > In 1974
(5) mqﬁamaﬁa 4) '. In1940 -
: - (5) Not attempted
e g&;;ﬁﬁiﬁm ke g m i 73.  After the death of Najib-ad-Dawlah'in 1770 AD,
who ascended his throne ? _
S (1) JabitKhan
il TR (3) - Mahadji Scindia
(@) . s e S " (4 Ahmad Shah Abdali
g e iﬁﬂ : (5) Not attempted
Lo E’F@T"“ i T:I?I’-T-GT ™ ﬁ!‘l’q' ‘ﬁ{ mér-ﬁ Eﬁr Wﬁﬂ 74. _Wh.‘l‘.ch dance form of Harya.na is dedlcated to
22 ' : - * Shiva and Parvati ?
L .(1) Lasya Dance
@) w3 @) ‘Ratwai Dance
-8 R (3) . Gangor Dance *
(4) qTrﬂ'(Tan - (4) 'Manjil'a'Dance |
(5) .T:’.T‘I'{ EH EFIT?E% il (5) . Not attempted 1
75. BT ANV AR g FHEN TE Al ?? % 75. Where is the Chhaj ornament worn by women ?
W T - - (1) Neck
(2) ®¥ (2 Hand ;
E3) b (3) Waist
. 4) wEl. - ] & Firehs
(5) IWAG A O B vt .
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76.

- (3)

771

8.

(2

79.

- (B)

i anfefes wdemr, 2021 — 22 % ITFER FhE™n #
Fo e foren wlg wwmm € 2

1 22 :

2 23

24

4 25 .

(5) IO TE AT =TEA

mﬁmwwwmﬁm (NBEHM)
JioAT Y Jeena Ty o ii ®? -

1) 2018

@ 2019

@) 2017

4) 2020

(5) SR & AT =Ed

‘g T, Wﬂh’ﬁm%mmaﬂzozzﬁ
fraa nifal S ST TR ? o
5,569
4,806
3,560
3,216

mﬂé‘fim%nz%

1)

(3)
(4)
(5)

.gﬂamﬁﬁgamﬁmaﬁﬁgﬂamzoﬂ 22%

fratt 2 2

@) 71,17,384
@) 172,17,283
(3) 73,07,992

4) 68,57,609
JaT A& o e

ehan sy a9 % fadE-ad 2022 -23 # FA T
F1 R i R ¥ @ = ¥g Puffa B

76.

7.

78.

79.

80.

ey

How many District Level Treasuries are there in
Haryana according to the Haryana Economic
Survey, 2021 - 22 ?

22

23

24

25

Not attempted

(2)
(3)
(4)
(5)

National Beekeeping and Honey Mission
(NBHM) Scheme was started in which year in
Haryana ? 5 '

(1) 2018

(2) 2019

(3) 2017

(4) 2020

(5) Not attempted

- How many vﬂlages have been associated with

‘Mhara Gaon, J agmag Gaon Scheme till January
2022 ?

(1) 5,569

(2) 4,806

(3) 3,560

(4) 3,216

(5) Not attempted

What is the total number of electricity consumers

in Haryana till 2021 — 22 ?
1) 71,17,384

2 172,17,283 °

(8). 73,07,992

(4) 68,57,609.

(6) Not attempted

What is the percentage of the total expenditure
allocated towards Education in Haryana State
Budget for the financial year 2022 — 23 ?

™R ?
(1. 164% (1) 164%
(2) 14-2% (2) 142%
3) 152% (3) 152%
(4) 182% 4) 182%
(5) I AEl I =Ed (5) Not attempted

—
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81. F@Wﬂﬁﬂm(m)ﬂﬂgﬁﬁﬂﬁ?&.ﬂ

82.

85,

g2 ?
1)
)
(3)
(4)
(5)

2018
2016
2017
2019

It T &A1 =R |

i & & g % frg safve S @ % &

' ﬁ2022w‘w Y’ o wem e R 2

gt I
a5 g
RENEREH

wd iy
I 3 e

&)
@)
3)
(4)
(5)

Rt i g siftver e % frw e @ ey
TEdt & 2 - |

(1) =

(2) @aEs

(3) HoEE

(4) IS .

(5) IMAGFMEE

2010 7 frw waT B TRATON N gEG T F G
feam w2 . '
(1 K

(2) Yt

(3) ehemmE

(4) 3T _

(5) IaC & & AEd

2015 7 fcfw & M forw ghamrEt feew # § aE

81.

82.

(@)

)
3
@
L 6))

(@)

In which year was SAI National Boxing Academy

(Rohtak) inaugurated ?

2018
2016
2017
2019
Not attempted

1)

(6))
4)
(5)

Which among the following personalities from
Haryana received the Padma Shri award in 2022

. in the field of sports ?

Sumit Antil
Bajrang Punia
Yuvraj Singh
Sandeep Singh
Not attempted

1)
(2)
(3)
(4)
)

Sportsperson Seema Punia Antil hails from
which village in Haryana ?

(1) Khandra

Khewda

Kaluwas

‘Ujhana

Not attempted

. Which language was accorded the status of th

second official language in Haryana in 2010 ?

(1) Urdu

(2) Punjabi
(8) Haryanvi
English
(6) Not attempted

Which Haryanvi film released in 2015 receivel

RAMA/D1/Page 18

TEHR J&H fopu T ? two National Awardg ?
(1) =fg = (1)  Chand Chakori
2) 9T (2) Pagdi
(8) IR Freww (3) Veer Ghatotkach-
(4) 3w (4) Beera Shera
(6
(5) 3w T & =ed ) Not attempted s i
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86. A el & ae i Pt R e § | W= T
awil & i 9 gu ft Borll B T A gy 7w Pl
HIRT 5 b w0 & Aad frepd g o F

g fsera & |

FIT:  FOWRTHIE |
FO ek e § |
oft s e §

g () Ioewenr§ |

(1)
(2)
(3)
(4)
(5)

g7. f=fafas dearcrs Saan § w7 fog (7) F WA W

(II) 3 FR 997 § |
(III) FoTHa we ¢ |

Had 11 AR 111 Frepera &
saet 1 3R 111 Freer &
ot 1, I 3 111 freherd &
Faa 1 3R II fFreperd €

I AL A1 AR

86. Three statements are followed by three

conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
known facts. Decide which of the given
conclusions logically follow from the given

. 'statements.

Statements :  Some plates are spoons.
Some bowls are plates.
All spoons are bowls.
Conclusions: (I)  Some plates are bowls.
(I) Some bowls are spoons.

(ITI) Some spoons are plates.

(1) Only II and III follow
(2) OnlyI and III follow
(8) AllIL II and III follow
(4) OnlyI and II follow
(5) Not attempted

Which number will come in place of the question

St geE st ? 87.
27, 216,729, ? , 3375 mark (?) in the following numerical series ?
(1) 1728 27, 216, 729, _? , 3375
(2) 1500 (1) 1728
(3) 20736 @ 100 !
(3) 20736
(4) 1729 i
® W H@ (6) Not attempted
88. frefifm 3 et w2 ﬁ'm 27 88. Find the odd term out.
5, 15, 20, 24, 25 5, 15, 20, 24, 25
D 20 @ 20
2 24 @2 24
3) 25 3 25
4) 15 ) 4) 15
(5) I T & =R - (5) Notattempted
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g9. 'gfe freht ETR L # ‘over and above’ I ‘da pa ta’|89. In a certain code language ‘over and above’ ig

3 ‘0ld and beautiful’ ) ‘sa na pa’ for@n S 2, written as ‘da pa ta’ and ‘old and beautiful’ is
@ 36t e W # ‘and’ H fFw wer fomn S ? written as ‘sa na pa’. How is ‘and’ Writteﬁ in that
(1) pa _ ' code language ?

(2) ta . ¥ (1) pa

(8) na sl , 2) ta

(4) da (3) na’

(5) IW qﬁa:n T , (4) da

_ (5) Not attempted
90. = T2 %1 yar wmsY S e 9% d Fiew

8 B L 90. Find the odd one out which is coded differently.
A SUUNE g o2 (1) TUNE:ETNU

(2) MORE : ERMO _ @ “MO‘RE:ERMO

(3) PLAY:YPAL ' (3) PLAY:YPAL

(4) HOPE : EHPO e (4) HOPE:EHPO

(5) Jut g T 9TRd - ' (5) Not attempted

: 91. On Aja - : ' |
91. I F THRA F AW W 100 T H T 7o A o Syaye bithday,. chocolates. were: o I

e Ah for ) 4 | dg e 70 af |  Gistributed equally among 100 children. He could
wrde Raia U g TiF TS a9 B 3 =iHee distribute to 70 children only so that each child
sfife fier @h | Roor % R o fea SR got 3 chocolates extra. How many total

N " P “chocolates were available for distribution ?
& his ‘ | . 1) 210 ik x
® 90 - @000
— i | 3 300
(4) 700 ' @ 700
(5) I A& < =1Ed : | (5) _ Not.attempted |
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92.

- 93.

- (3)

95.

(5)

(3)

-

® .
XYZ\ABCQRSOPMNJHI#—12345 ,

ﬁq%f@aﬁﬁammﬁﬁm

(1) d9g< - g

2) el - 7w

(8) % -dEn

() wmET - e

ERIE RSl
@ﬁwﬂﬁquﬁﬁqﬁ@:mwaﬁaﬂ
R e ST 8 e sk e e

G NAEHR
1 2 8 4.8

5,3,2,1,4,6

5,3,1,2,6,4

.3,5,6,2,4,1

4) 5,8,1,2,4,6

(5) I T o <Ed

fi7 YR ‘ANGLES' F1 ¥4u ‘GNASEL’ ¥ %, Rl
‘SQUAREWW%H%E"BH?

UQSARE
USQERA

8}
(2)

(1)
(2)

(4) UQSERA
(5) I & & = TR

ﬁmm‘BLUNT’ %1 §4Y 1BuTn’ e, :ﬂ:ﬁm
‘SHARP'mmmﬁ@m 2. :

PraHs

hSaPr

AhSpR

HspaR -
. FeR T 31 =Ed

(2)
(3
4)

I

& shgen ¥ wea v @ grt 3w Feffea F |
<Y ek |1 g 2

UQSREA Yo

92.

93.

el
®)
94,

95.

U ()

96.

(3)
- @)

- 1)

Find the odd one out.
(1) Petal -
(2) .Finger —Hand
(3) Brick - Wall .
(4) Auditorium - Chair
(5) Not attempted

Flower

Select the combination of numbers so that the
letters arranged accordingly will form a
meaningful word : i
GNAEHR

1 2 345 6.

5,8,2,1,4,6

5,3,1,2,6,4

3,5,6,2,4,1

5,3,1,2,4,6

Not attempted

M
()
(3)

‘ANGLES’ is related to ‘GNASEL’ in the same

 way as ‘SQUARE’ is related to _? .

UQSARE
USQERA
UQSREA
UQSERA

Not attempted

(6
(2)

(5)
BLUNT is related to ‘lBuTn’ in the same way as -
‘SHARP’ is related to 3 .
PraHs
" hSaPr

AhSpR

HspaR

.INot' attempted

(2)
(3)

(5)

XYIZABCQRSOP-MNJH'I#T:-12345':
Which of the following is third to the right of the

" element which is exactly in the mlddle of the

given sequence ?'

1) N 1) N

@ J. @ J

@ H (3 H-

4 M - 49 M

(5) we T I e (5) Not attempted
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97. frefifan weae e § X % ww w BRA
T st 9

% XY

(2)
3)
(4)

(5)

0,7, 26, X, 124, 215
65 -

62

63 .

60

0 T 3

98. ﬁﬁqu%mﬁaﬂmmmmm
T S Y T HIRT |

(1)
(2)
3
@
(5)

SUPERVISION
POISON
REVISIT
NERVOUS
RESIGN _
IR T ¢ =

[ T WISE YEAM o Feqarst § Wil gHe &
* T B SiTer § 1 39 5 T % Imm it mavaea @ |
Iy frefafles § @ A sl s 2 0

(1)
(2

a9 38 57 ¥ R A =3 | |
o 38 5 R ¥ R e 3 g woeA

- fmwE .

3)

(4)
(6)

AN I 5 A F v sww & I wh
fuferean =13 &1 ot ymam S |
Iy 3@ el & e S

; 100‘ |A!, ‘B’,- ‘C,, ;D’, ‘E, m .tF’ % a]'ﬁﬁ % | ‘c? ‘D? ﬁ ag]-

I TR B | B e D W g

BEiTNd | CFAdaE | BARIE?

_ ' ol '99.'
99. 39 TF U & A & | o1uent v fecfiad =i |

917.

Which number ‘will replace X in the given
numerical series ? ) '
0,7, 26, X, 124, 215

(1) 65

(2) . 62

" (3) 63

98.

4) 60 e
(5) Not attempted

Find out the word which can’be formed by using

the letters of the given word.

SUPERVISION
(1) POISON

-(2)° REVISIT -

(3 NERVOUS

(4) RESIGN
(5) . Not attemp_ted

You are the owr_ier of a restaurant. One of your
delivery boys met with a minor accident while
rushing to deliver the food on time. He needs rest

for 5 days. Which of the following actions you will

take? o :
(1) You will suspend him for 5 days.

(2 You will ask him to go on leave wi_thou't pay‘

foxj 5 days.

@) . You will give him paid leave for 5 days and
will also pay for medical expenses.

(4)_ Ym_l will terminate him from the services.-

100.

(5) - Not attempted

‘A,B, ‘C, D, E’ and ‘F are six persons. ‘C’ is
older than D’. ‘A’ is the youngest. ‘B’ and ‘D’ are
of equal age. ‘B’ is older than E’. ‘C is younger
than F°. Who are older than B’?

1) CakE (1) CandE
.(2) F 3R E (2) FandE
@ Fakc 3 FandC
4 O3kD . 4 CandD
) Wqﬁﬁmmﬁ ‘ '(5l_§ff_3;‘itempted‘
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